4321

2000.9.1

count.c, driveO.c drive.c feedback.c *.exe
grview.exe
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VR VR

VR

SW SW
VR VR

counter.exe
SwW SW
VR1 VR

SWi1 SW

LED LEDZ
VR1
2msec

VR1

counter.c
#define COUNTIN Oxd1 /* */
#define INTERVAL 2.0 /* 2.0msec*/

volatile int counter=0,velocity=0;

void main()

{

char c=0;
initper();/* */
printf(" SwWi ¥n");
printf(" VR1 ¥n");
printf(" Swi ¥n");
printf(" ¥n");
getch(); printf("¢n");
printf(" VR1 ¥n");
printf(" ¥n");
printf(" ¥n");
timer98(1,INTERVAL, timeintcounter);/* */
while (c!=""){

printf(" %6d %6d¥r",counter,velocity);

if (kbhit()) c=getch();
}
timer98(0,INTERVAL, timeintcounter);/* */

}

void interrupt far timeintcounter(void)/* */
I* counter  velocity */
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static int lastx=0,lastcounter=0;
int x,pn;
disable();

X=inportb(COUNTIN);

pn=x&02;

X>>=2; X=~X;

if(pn) x=-x;

X&=0x03f;

if (0x10<x-lastx) counter=x+(counter&0xffc0)-0x40;
else if (x-lastx<-0x10) counter=x+(counter&0xffc0)+0x40;
else counter=x+(counter&0xffc0);
velocity=counter-lastcounter;

lastx=x;

lastcounter=counter;

outportb(0,0x20);/*send EOI*/

enable();
2msec
counter
velocity counter  velocity
0 1
x=inportb(COUNTIN);
| [ [ | *I |
¢ L
000000001010 0
1101010x 000000001111
1 1100001x
2msec
SW
SW
drive0.exe
SW SwW
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drive0.exe

drive0O.c

#define DAOUT 0xd3

void main()

{

int data;

initper();/*
outportb(DAOUT,0x80);/*
printf("
printf("
printf("
printf("

-128 127

printf("™-128..................... 0 U

printf("

printf("

printf(" (-128 127,

scanf("%d",&data);

data+=0x80;

while (O<=data&&data<=0xff) {
outportb(DAOUT ,data);
printf(" (-128 127,
scanf("%d",&data);
data+=0x80;

}
outportb(DAOUT,0x80);/*

drive.exe
SW

drive.exe

*/
*/
¥n");
¥n'),
¥n");
¥n");
....... 127¥n");
¥n");
¥n¥n");
) ")
) "
*/
SW
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2msec

velocity=counter-lastcounter;/*
fcom=kx*(dest-counter)-kv*velocity;/*

*/
if (O<velocity) fcom+=minout;/*
else if (velocity<0) fcom-=minout;/*
else {
if (0.<fcom) fcom+=minout+1;/*
else if (fcom<0.) fcom-=minout+1;/*

}

if (fcom<-128.) com=-0x80;/* */
else if (127.<fcom) com=0x7f;/* */
else com=(int)fcom;

com+=0x80;/*

outportb(DAOUT,com);/* */

VR

SwW
feedback.exe

DOS type
grview.exe

grview.exe
>grview.exe

feedback.exe

0.1, 0.3, 1.0, 3.0
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*/
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